VCE & PDF https://www.passapply.com/h12-811.html
2024 Latest passapply H12-811 PDF and VCE dumps Download

PassApply.com

H12-8110%As

HCIA-Datacom V1.0

Pass Huawei H12-811 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/h12-811.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Huawei
Official Exam Center

@ After Purchase

@ Guarantee

© Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest H12-811 Dumps | H12-811 PDF Dumps | H12-811 Practice Test 1/3


https://www.passapply.com/h12-811.html
https://www.passapply.com/h12-811.html
https://www.passapply.com/h12-811.html

VCE & PDF https://www.passapply.com/h12-811.html
2024 Latest passapply H12-811 PDF and VCE dumps Download

PassApply.com

QUESTION 1

The administrator made the configuration on the router as shown in the figure. At the same time, the administrator wants
to assign a shorter lease period to the DHCP address. Which of the following commands should be used? ()
(Singlechoice question) ip pool pooll netyork10.10.10.0ask255.255.255.0 gateway-list 10.10.10.1

A. Dhcp select relay

B. Lease day O hour 10

C. Lease 24

Correct Answer: C

QUESTION 2

IPv6 uses NS and NA packets to perform duplicate address detection (DAD).
A. True

B. False

Correct Answer: A

IPv6 uses Neighbor Solicitation (NS) and Neighbor Advertisement (NA) packets to perform Duplicate Address Detection
(DAD). DAD is used to ensure that no two devices on the same network have the same IPv6 address.

QUESTION 3

The following statement about the TTL field in the IP packet header is correct. ()

A. TTL defines the time interval at which the source host can send data packets

B. TTL defines the number of packets that the source host can send

C. Each time a P packet passes through a router, its TTL value will be reduced by 1
D. Each time an IP packet passes through a router, its TTL value is increased by 1

Correct Answer: C

QUESTION 4

What are the three sources for routers to obtain routing entries? ()*
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A. Aggregate routing
B. Static routing

C. Dynamic routing
D. Direct route

Correct Answer: BCD

QUESTION 5

The Trunk port can send both tagged data frames and untagged data frames.
A. True

B. False

Correct Answer: A
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